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Q1. Microsoft Excel @emen 2 .uGuIT&Sg &1 eu@bld eusnauiled %sﬁm@&mm 2 (HeUTEHE
sigemen  “RepeatExam.xlsx” ﬂ@]ﬂ)“; Qﬁmmd) SfeISSHPD 2 HeuTSHSIL
sl 1q6066 2 snmullsgien GG, :

(). "Question1” aigud Quuifico Usbgnen (Worksheet) eeininar 3Q1 @eb
2 (HeUT&H&IL /_umﬂﬂug,g,&ggleb (Workbook) #@mn&@ “Sigle0 4 k?mmeu@m

QLTINS 2_(THEUTHEHEYLD.

A B c b E F
1 Tracking savings goal

> ! ABCLtd - Year 2014 ‘

3 %of Tax 7.5% -

4

-Goal ID | Savings Goal|Transction Tax fﬂf %,Of Status

5 Transaction | Savings

6 Gl Rs. 35,000| Rs. 11,650

7 G2 Rs. 20.000| Rs. 7.000

83 G3 Rs. 12.500| Rs. 11,250
3 G4 Rs. 7,500] Rs.6.500
10 G5 Rs. 8,500/ Rs. 500
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a. £(Z;p{ UL @enen  sweum_gmGCaHu  Tax for Transaction HijeSlenen
(column) Aylis.
Tax for Transaction = Transaction * % of Tax
b. &Cw syiulGeten FLAUTLGOGCHOU % of Savings Hiyedleneor HFLLS.
% of Savings = ((Transaction - Tax for Transaction) / Savings Goal)*100

c. &G syuuL(emen BubgmeTsEh&Canu Status Higedlenen By,

If (Transaction — Tax for Transaction) >= Savings Goal * V2

Status = Good save
Otherwise

Status = Bad save

d. Qum@msswre Qewmdurigsnstl (function) LTeNHS) % of Savings > 80%

st eu(mld cell seMemer LFems HMTS (green colour) DIHMIS.
e. Goal ID, Savings Goal Transaction g&eﬂu_l [f;]rjs\)aaﬂmm (columns)
uwstru®@sd Clustered Bar Chart @mm enamj&, Chart @m@ “Tracking
savings goal” CTGHTLING  &EMELLILITESALD (Txtle) ‘ABC Ltd — Year 2014”
sTetTLENS 2 UgemeoLiumsed (Sub Title) @@63. 25601 X A MG (axis)
» Amount” stereyd Y s188m@ (axis) Goal ersoreyd %meme,
»: ;
P TAl
(ii). "Question2” eagd Quufled yHu  UeNSHTeT (Worksheet) — epstiienn
Q1 e 2 Bamsdu uaMiILSE65H6 (Workbook) 2 Beumésl igle LN6BT6U(HLD

QUG 2 (HeUTEHSELD.

Marks 1 | Marks 2 | Marks 3 | Marks 4 | AverageMarks | Grade
78 45 74 49 .
78 12 25 98
45 26 68 57 ¥
26 89 59 68
45 56 54 26
89 24 36 59

a. AverageMarks MRyedener (Column) QUIT(HSSLOMEN Qawmur@ senenLl
(functions) umeNga Hruys. (GO AverageMarks o618 @yssn
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SEDHTEIRGERHE WL FLLOULED Goustm(Hd. 2 gmyswrons 75.583
cesiled 75.58, 75.586 ereafled 75.59 gusaid Siemiowl Geussm(Bid.)
b. Grade & eu@b HILITh & 6065788 e SCHML

Hiyedlemesr  (Column)

QurSSLTe Qewmur@ssnents (functions) ureN& s HyLUs.

75<= AverageMarks <=100 Grade: A
60<= AverageMarks <75  Grade: B
50<= AverageMarks <60  Grade: C
40<= AverageMarks <50  Grade: D
AverageMarks <40 Grade: F

(ii). "Question3” egd Quuifleo yHw UEMNSSHTeT (Worksheet) — epstriensot
Q1 @6v 2 meursS LENLILSSSS 6D (Workbook) 2 (meursél Siged Mebrau(sLb

2 EUTTHENS 2 (HEUTEHSELD.

A B - D E-
1 Blood Pressure Readings -
2 | Patient ID: 1234 e
3 P
4 Target Systolic (SBP} 120 £
5 Target Diastolic (DBP) 80
6 3
7 Date Time SBP DBP |Comment *
g 1¥72/2014| 8:00:00 AM 120 80 %
g 11/2/2014|11:30:00 AM 128 84
1o 11/2/2014| 5:00:00 PM 118 76
11 11/2/2014| 9:30:00 PM 120 80
12} 11/3/2014| 8:00:00 PM 130 78
13 11/3/2014] 11:30:00 PM| 118 76
/14 ‘Average -
| ‘No of records that 2
have DBP > Target “
15 :Dias’iolio

4 i

a. Qurmsswrer QeuOuTGsment (functions) uweu@ s SBP  wmmid

DBP g &weummesr spmeflullsncré semlés.
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b.

*

QuITSgLoms QFEwWHUTHSement (functions) LwiTURES No of records
that have DBP > Target Diastolic D EHET &S

Speu(mLd BUBS s 68 e &CHML @IS & LD mewt CEwHUTHemenL
(functions) LweTLUGSE Comment BiyeSlemear (Column) Hyliys.

If SBP is less than or equal to Target Systolic,
Comment = Normal

If SBP is greater than Target Systolic,
Comment = Higher

Time, SBP wpmiiv DBP W Byevsefsmens (columns) LWITURGE S1D

STULL I (H6GWD eusmsUed o 6Ten aumIULGemg (Graph) susnys.

Blood Pressure Readings
? Patient ID: 1234
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